New Maths GCSE: G15 - Bearings

Correct Answer: ABCD
Which of these |

facts about Explanation:
bearings is
incorrect?

A) Always start from B) Measure anti-

North Clockwise | |
Always give Measure | | e
C) bearingsin 3 D) lockwi
fizrres CIOCKWISE | | ettt
- Correct Answer: ABCD
Work out the Explanation:
bearing of B
from A --------------------------------------------------------------------------
A) 250° B) 90°

C) 110° D) 70°

Correct Answer: ABCD
Work out the Explanation:
bearing of B
from A --------------------------------------------------------------------------
A) = B) [ —
C) 200" D) o | | e
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N
Work out the
bearing of B
from A
A) 30° B) 210°
C) 150° D) 030°
Work out the
bearing of A
from B
A) 120° B) 240°
C) 300 D) o0
Work out the
bearing of A
fromC 260°
A) 45° B) 115°
C) s D) 045°
Work out the
bearing of B
from A ’ e’
A) 230° B) 130°
C)  oso° D) 310°
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Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:



Work out the
bearing of B
from A
A) 030° B) 330°
C) 210° D) 150"

Work out the
bearing of C
from A 260°
A) 245° B) 130°
C) o045 D) 115°
Work out the N I
bearing of B 4
from A o2
A) 035° B) 055°
C) 325° D) 215°
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Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:
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